Monday 6.7.20

One way to represent discrete data is to use bar charts.

Discrete means separate. The data is organised into separate groups. Eg different types of transport in the bar chart below.

. Complete the table using the information in the bar chart.

How Y4 travel to school

16 — - e Transport Nurmber of children

14 — Car
& 12— Walk
3]
z 10— Bus
[
S 8 — Bicycle
.g e
£ 6
2 4

-

0

Car Walk Bus Bicycle
Transport

What is the most/least popular way to get to school?
How many children walk to school?



. Represent the data in each table as a bar chart.

T“J—A~4ﬁp Day Number of tickets sold
=™ j Monday 55
. 0 Tuesday 30
Wednesday 45
Agh Thursday 75
= 20 poiney Friday 85

s
Look carefully at how many, 1 green square represents.

You may like to draw your bar charts using 2Graph in Purple Mash.



TARGET To present data In a A
bar chart.
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Halifax City Football Club sold the
following number of season tickets:
* Male adults - 6,382

Here is some information about the
number of tickets sold for a concert.

Day Mumber of tickets sold
* Female adults - 5,850 v— -
¢ BD}"S - 5,209 Tuesday 30
¢ Girls - 5057 Wednesday .:?
Thursday 75
Friday 85
Would you use a bar chart, table or Jack starts to create a bar chart to
pictogram to represent this data? represent the number of concert tickets
Explain why. sold during the week.
6 —
5
Alex wants to use a pictogram to ; :
represent the favourite drinks of everyone 2 —
in her class. 1
- T TMon [ [Tes [ [ Wed | [Trurs] | Fo |
e | will use this image @ What advice would you give Jack about
to represent 5 children. the scale he has chosen?
What would be a better scale to use?
Explain why this is not a good idea. Is there anything else missing from the

bar chart?



Tuesday 7.7.20 gy [Fan | tomammmn
Sycamore OOOU

Discrete data can also be

represented using Ok O O O CJ O = 20 points
pictograms. Seach O O O
These have pictures which v
represent a given amount Ash O O C/

the circl ite, :
€g the circle opposite How many more points does the Sycamore team have than the Ash
represents 20 points.

So half a circle will team?
represent 10 points and a How many points do Beech and Oak teams have altogether?
quarter of a circle will How many more points do Ash need to be equal to Oak?
represent 5 points.
. o e ofwes | HOW many people voted in total?
1

Bowlng 9 = of the votes were for

Cinerma 10

P ; 7 more people voted for

l;e-sk_ahng_ | 4 ] than




TARGET To solve probiems
using information
presented in
plctagrams.

Erawyete

This pioicgean Biows e mumiber ol Todsns

ot dBerert dom wakd In g lege Seqartren!
sew in oew manth

nw

w WY
 reew

»n TR
. TeRTY

u ¥R

= U1

\-:f rrwsends 104 Tabam

L Whaoh ahew sobd B St been)
xR

Herw musoe irescdiems wae @1y s st ?
ov:

Wom oy mare ur,ﬁ shintswere sobd
than eadra lage ¥
200 (500~ 300)

How many Tessey es1rp ireall himy weve
wied than sndl?
150 (400 - 280

o many s sdler than & medhum
wve ubd?
652 (250 + 400)

Phoms ety 0y Lages Tan 4 medeem
v kel
P52 (500 + 200 4 T2

L}

Tl UL himwt 170 ustizer of Chesk
chey won by & chekdes am ore wohond
by puet 31w b Sy chew tETETR

mee 050

e e W
by 0 a4

e I3 3

m DS EdEE
e OSSO
PR T TE P

¥

1 W90 s the et guenes?

£) W0 wan the feast gaores?
0 Hiow mary gurres B0 BRan weed
© Whu s swe garn!

1 Bechy !

) 1w wuany Mt s St Shdan win -
wan Parn!

£ Vow xuany quines were mads Ly B hiew
oty Mtogettey?

O 1w ¥13sy garmes wert e, ty B there
Doy abogethert

B8

s pettangwm show e rrarvbier

OF THdents Wan i 0 plhey Sfiereslt
Prutrrieets af a rrasee cnthonys . Lacts shom
thue wow irniturrare imly

- =

e ar:::O'O"

e ST

Gatu ,".'4"3,"'.,"3,"‘.,’3,':,’
we BRRARARN
\‘m'f:.f':":

Viein f::;::.cf"f

,1 ek M) e n

D Wich armert wes being statbed By
T Stecds Wi asy omhed?

© Whsh mistrest wes teng statbet by
Tewes ity

‘ My uarry Vorderdh vars leamasg:
) twrwdn B the ceilut

© Vit roniment was Deveg shateal by
W TSudents by 30 vuderis?

. Pogen rruary rrarw susderis wers bearing
e O P the Sate?

Q) row reary rreaw staxbwrts wers by
11 pairw Thas e vioin]

0 1w vy tastents wers ssachr g e
of b werad bsdruarmenti !

© Wowe ey s ts were sasyng
Vrbumend fhined st a Loy

° Abogattur fera mary dodents were
HUdEsQ an Frdtament)

@ :?m-anm
!

c —

mmmm«mn
tratet of appten of fereon Iypes ikl 41 3
PO Y3 TN TR

WQ.z..‘C
w990t

e SOOOSY

«“ Gdeecnee

=~ 9090
s @4

@ rvven st e,
@ 0x et typa st gl e, 290 e
el |

° Hime rdeny Con's opbet wom wied!
© O e g of st e 325 e
T

(© 1 sy by e e s

.mmmwmn
et mtny varwtion ceotsest!

© hemz ot Pk Laedy bt con bt s

Mmumum%du
ety ?

@ 1w mary crurrs o aggies wese il
aumrowr!




Favounte e cream

E (=]
S (PR (I YR I

Number of chidren
[

L]

i

o

- (- IR f

lce Croam flavour

Rosie says,

We asked 54 people
altogether.

]

Can you spot Rosie’s mistake?
How many people were asked
altogether?

| Number of visitorson | Number of visitors on
Atteaction " Saturday S:vdv/
Animal World Zoo 1282 2564
Maltings Castle 2,045 1820
Primrose Park 1952 1325
Film Land Cinema 2,054 1595
True or false?

* The same number of people visited
Maltings Castle as Film Land Cinema
on Saturday.

* Double the number of people visited
Animal World Zoo on Sunday than
Saturday.

* The least popular attraction of the
weekend was Primrose Park.




Wednesday 8.7.20

To interpret discrete data represented in a bar chart.

TARGET To interpret data presented in a bar chart.
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Thursday 9.7.20

To interpret continuous data represented in a bar chart.

Continuous data is where data is not in separate groups but each category runs into the next one.
Continuous data often has measurements organised into ranges of values e.g. heights, weights, distances, times

They can be represented in a type of bar graph called a histogram. There are no gaps between the bars as the range
is continuous.



TARGET To interpret and present
continuous data.
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Friday 9.7.20

TARGET To begin to interpret
over time In grap

HSTOGRAMS

Charge over Sava can be shawn mosn

hstogram.

Cxample

The mumiber of ipactatorns entering a foottal
ground w the howr before back off.

PP

Mivaten Bedore bk of

Lock at the hissogranm.

) How many spectaton eotosed the grourd
I (e first, 20 mirndes of the hour before
hck otf?

Angwerr 4000 (1000 + 5000)
£ How many fesr spectaton ernered the
i thve Tl | G minwutes before kick

off than i the 10 miote period before
n?

Arpwer 4000 (6000 ~ 2000)

£ Moy mary more specsaton ensered the
ground m the ket hall houe betore kick
off thae iy the halt hour beloes 11!

Ansaer 1000 (17000 ~ 16000)

L EMAME T AY

@ What was the mpacatre i
ay October B} March?

@ 11 vy two moo s the
temperature I°C!
2) the largmi fise n temperature
b) the largee Tal i semperature!
) How much tigher wen the ot
Lo peraiune:

al In ey thae i April
B). tn Jaby than s farmanry?

Eormw an histcagram Lakelod i twos 0>
show thar infoemation in the table,

!
A
’




